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General Instructions :
Read the following instructions very carefully and strictly follow them :

(i)

(ii)
(iii)
(iv)
(v)

(vi)

(vii)

This question paper comprises four Sections — A, B, C and D.

There are 40 questions in the question paper. All questions are
compulsory.

Section A — Questions no. 1 to 20 comprises of 20 questions of
one mark each.

Section B - Questions no. 21 to 26 comprises of 6 questions of
two marks each.

Section C - Questions no. 27 to 34 comprises of 8 questions of
three marks each.

Section D — Questions no. 35 to 40 comprises of 6 questions of
four marks each.

There is no overall choice in the question paper. However, an
internal choice has been provided in 2 questions of 1 mark,
2 questions of 2 marks, 3 questions of three marks and 3 questions
of four marks. You have to attempt only one of the choices in such
questions.

However, separate instructions are given with each section and
question, wherever necessary.

(viii) Use of calculators is not permitted.

SECTION A

Question numbers 1 to 20 carry 1 mark each.
Question numbers 1 to 10 are multiple choice questions.
Choose the correct option.

1.

The decimal representation of =3 4.5 will
2°5%3
(A) terminate after 3 decimal places
(B) terminate after 2 decimal places
(C) terminate after 4 decimal places
(D) not terminate

For what value(s) of ‘a’ will the equations 2x + 3y = 13 and
3x + ay = 18 have no solution ? -

A) 2
(B) 45
(C) <10
(D) -4

.30(B) 3 P.T.O.




Iafe AABCH, Z A=90°%, @ cosec (B + C) &l UM &

2
(A) 7
1
(B) 3
V3
©) o5
D 1

A= & e arfere § 50 frenfit grn v wan when ¥ yreaie e #

3 1-10 {10-20| 20-30 | 30—-40 | 40-50

faenfeiat Y g 4 7 19 12 8

3 Afhgl & Areas it i i i R
A) 10
B) 20
(C) 25
(D) 30

31 37l I FEE DI FEAT qAT 50 A B 6 % Y § U I A.49.
(LCM) ?

A 2

(B) 48

(C) 120

(D) 240

sin 0 cos (90° — 0) + cos 0 sin (90° — 0) T AH B
A 0

B) -1

©) 1

D) 2

2

.30(B)




Ifin A ABC, Z A = 90°, then the value of cosec (B + C) is

2
A 2
1
(B) 2
V3
(C) Y
D) 1

Given in the table below are the marks obtained by
50 students in a class test :

Marks 1-10 | 10-20 | 20-30 | 30—-40 | 40-50

No. of

Students 4 7 19 12 8

From this data, the lower limit of median class is
A 10

B) 20

(C) 25

(D) 30

The LCM of the smallest two-digit number and the largest
multiple of 6 which is less than 50 is

A 2

(B) 48

(C) 120

(D) 240

The value of sin 0 cos (90° —0) + cos 0 sin (90° —0) is
A O

B) -1

€ 1
1

(D) By

.30(B) 5 P.T.O.
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16
-6
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100

The distance between the points (3, 4) and (- 2, -1) is
(A) 542
(B) /30
(C) 643
(D) +10

If P(6, g) is the mid-point of the line segment joining the

points A(8, 5) and B(4, 3), then the value of k is

(A) -8

(B) 16

) -6

(D) 8

5sin 06— 2 cos0 .

is

tan©

If sin6 = g, then the value of the expression

15
28
28
15
23
15
92
15

(A)
(B)
(C)

(D)

The point which divides the line segment joining the points
A(2, 3) and B(- 3, 4) in the ratio 3 : 4 internally lies in which
quadrant ?

A 1

(B) 1II

(C) III

(D) IV

.30(B) 7 P.T.O.
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Note : In question numbers 11 to 15, in each question blanks are to be
filled correctly :

11. The diameter of a sphere of volume 1437 1 cu. cm is

cm. (Use ©t = %)

12. If 5, b, ¢, 14 are the consecutive terms of an A.P., then
b+c=

OR

The next term of A.P. l, 1- p’ 1- 2p,

p P p

... 18

13. If —2is a root of the quadratic equation 3x2 — 5x + k = 0, then
the value of k is

14. A number is selected at random from the numbers 1 to 20. The
probability that the selected number is a multiple of 3 is

15. If two triangles ABC and DEF are similar and £ A = 67°,
Z E =63°, then the measure of £ C is

Note : Answer the question numbers from 16 to 20 :

16. Write one irrational number between 0-15 and 0-21.

OR
Find the HCF of 12, 18 and 30.

17. Ifa—-b, k, a + b and x are four consecutive terms of an A.P.,
then find the ratio between k and x in terms of a and b.

18. Two concentric circles are of radii 5 cm and 3 cm. Find the
length of that chord of the larger circle which touches the
smaller circle.

19. ABCD is a trapezium in which AB||DC and its diagonals
intersect each other at O. If AB = 3 CD, find the ratio of the
areas of triangles AOB and COD.

20. Find the value(s) of k for which the roots of the quadratic
equation 9x2 + 3kx + 4 = 0 are real and equal.

1.30(B)] 9 P.T.O.
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SECTION B

Question numbers 21 to 26 carry 2 marks each.

21. If the areas of two similar triangles are equal, then prove that
the triangles are congruent.

OR

Prove that the sum of the squares of the sides of a rhombus is
equal to the sum of the squares of its diagonals.

22. Find the number of numbers lying between 146 and 300 which
are divisible by both 3 and 5.

23. Prove that the parallelogram circumscribing a circle is a

rhombus.

24. 100 jugs of equal volume full of water are emptied in a conical
flask and the level of water in the flask is 75 cm. If each jug
contains 3850 cm3 of water, then find the diameter of the level
of water in the flask.

25. On the edge AB of a wall of a house, a projection AP, which is
perpendicular to the wall, is erected and its edge is of length
27 cm. A point searchlight is fixed on the corner point P of
projection which sends a ray of light PQ such that
AQ = 943 cm. If Z APQ = 6, then find the value of (i) 6, and
(i1) tan 6 + sec 6.

.30(B) 11 P.T.O.
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27.

28.

29.

30.

3 37eh] ATl TEAT o 3okl ol ANTHA 8 B | Ife g | 36 S fau
I, @ 37k TIH 9ed Ad 8 | T [ I |

Th U A&T & IIYH T fan 92 shuST: 16 991 136 8 | Ife FHiaT
A& & g9 IR 5 B, a1 GHIR A | fohad 98 & AT IAHRT ITHA
R 8 2

Tg WHd §¢ 6 /3 T ie e v, qt fag it 6 53 -7
T IURT 9T B |

YT

Ifg 65 qeM 117 1 7.9, (HCF), 65m — 117 g fer@n it 2, ?ﬁm
T HH F1d hIT |

afg fsig A(0, 3), B(- 2, a) a1 C(- 1, 4) TF Twshiv By & M 3
& A W G99V g, ql (i) ‘a’ S 9E 1 iR, (i) Bys ABC &t
Tl St YT I FEE FIa hifoTT, qn (iii) Y ABC #1 &9%w
T HIT |
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26.

Two friends A and B take their breakfast occasionally in a
restaurant which prepares a speciality dish on Monday,
Wednesday and Sunday. Each is equally likely to visit the
restaurant on any day on which the speciality dish is made.
Find the probability that both will enjoy taking the speciality
dish on the (i) same day, and (ii) different days.

OR

Two coins are tossed together. Find the probability of getting
(i) both heads, and (ii) exactly one head.

SECTION C

Question numbers 27 to 34 carry 3 marks each.

27.

28.

29.

30.

A number consists of two digits whose sum is 8. If 36 is added
to the number, the digits interchange their places. Find the
number.

OR
Solve for x and y :

X, Y _g X,¥_

3 4 6 2
The first and the last terms of an A.P. are 16 and 136
respectively. If the common difference of the A.P. is 5, then

find the number of terms in the A.P. Also find their sum.

Assuming that /3 is an irrational number, prove that 5/3 — 7
is an irrational number.

OR

If the HCF of 65 and 117 is written as 65m — 117, then find the
value of m.

If points A(0, 3), B(-=2, a) and C(- 1, 4) are the vertices of a
right triangle right-angled at A, then (i) find the value of ‘a’,
(ii) find the length of the longest side, and (iii) find the area of
A ABC.

.30(B) 13 P.T.O.
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32.

33.

34.
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—cot (90° — 0) tan 0 + sec O cosec (90° — 0) + sin235° + sin2 55°
tan10° tan 20° tan 30° tan 70° tan 80°
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i e | Py % 38 W H &A%A 1 I S gl o ST 8 |
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AT | I a1

Uit i g fort 6 T

0-10
10-20
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30 -40
40 - 50
50 — 60

N[ |J(O0 || N
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31. Find all the zeroes of the polynomial

2x4 — 5x3 — 11x2 + 20x + 12

if it is given that two of its zeroes are 2 and — 2.

32. Prove that:

(sin 0 + cosec 0)2 + (cos 0 + sec 0)2 =7 + tan2 0 + cot2 0

Find the value of

—cot (90° — 0) tan O + sec O cosec (90° — 0) + sin235° + sin255°

tan10° tan 20° tan 30° tan 70° tan 80°

33. The area of an equilateral triangle is 49+/3 cm?2. Taking each

angular point as centre, circles are drawn with radius equal to
half the length of the side of the triangle. Find the area of that
part of the triangle which is not included in the circles.
(Use v/3 =173, n= 273)

34. The number of patients attending a hospital in a month is

given in the table below. Find the mean number of patients

attending the hospital in a day.

Number of patients ag:rﬁlli)re;lg. %f;(slgg:cil
0-10 2
10-20 6
20-30 9
- 30-40 7
40 - 50 4
50 — 60 2

.30(B)
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SECTION D

Question numbers 35 to 40 carry 4 marks each.

35. Prove that in a right triangle, the square of the hypotenuse is
equal to sum of the squares of the remaining two sides.

36. Write the steps of construction of a A ABC in which AB =5 cm,
BC=6cm and ZABC=60°. Then write the steps of

construction of another triangle whose sides are % times the

corresponding sides of A ABC.
OR

Write the steps of construction of two tangents to a circle of
radius 3 cm which are inclined to each other at an angle of 60°.

37. A bucket, open at the top, is in the form of a frustum of a cone
with a capacity of 123088 cm3. The radii of the top and bottom
circular ends are 20 cm and 12 cm respectively. Find the
height of the bucket. (Use n = 3:14 )

OR

A conical vessel whose internal radius is 5 ¢cm and height
24 cm is full of water. This water is emptied in a cylindrical
vessel of internal radius 10 cm. Find the height to which water
level rises in the cylindrical vessel.

38. A statue 2 m tall, stands on the top of a pedestal. From a point
on the ground, the angle of elevation of the top of the statue is
60° and from the same point the angle of elevation of the
top of the pedestal is 45°. Find the height of the pedestal.
(Use /3 =1-73)

.30(B) 17 P.T.O.
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39. The sum of the areas of two squares is 640 m2. If the difference
of their perimeters be 64 m, find the sides of the two squares.

OR

Solve for x :

1 1 11

- =—, x#-4,7
x+4 x-7 30

40. If the median of the following distribution is 28-5, then find the
values of x and y :

Class Interval Frequency

0-10 5

10 - 20 X

20 -30 20

30 —40 15

40 - 50 y

50 — 60 5
Total 60

.30(B) 19







